m(n)

» 1

n/Inn

Hapucosatb rpadouk doyHKkumm P(n)=konn4ectso
NPOCTbIX YMCEN, MEHbLLUNX A

P(10)=4

In(1+x)=x

P(n)=n/In(n)
P(2n)=2n/In(2n)

[MocTtynaT 6epTpaHa
P(2n)-P(n)=-n(1/In(n) -2/In(2n))=
=-n([In(2n)-2In(n)}/(In(n)In(2n)))=
=-n([In(2n)-In(n*2)]/(In(n)In(2n)))=
=n([In(n*2/2n)]/(In(n)In(2n)))=
=n([In(1+n/2-1)]}/(In(1+n-1)In(1+2n-1)))=

=n(n/2-1) / (n-1)(2n-1)=n"2/2 - ... [ 2n"2 +...

2l 2=1/4

a/b>2

Esknna 2000 net Ha3ag
P(n) -> oo

npu n->00

NPOCTbIX YMcen
OEeCKOHEYHO MHOrO

ounep 1750r
P(n)/n->0
npu N->00

Yebbiwe 1890rm
P(n)/(n*In(n))->1
npu n->00

In(n)=log_e(n)

log_2(8)=3
log_2(1024)=10
log_e(10)=2.1..
e=2.71



